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frafefs 32 ey fofes emofs (MCQs) (are o+ Ter fisfon w2 ¢ oz Wis ¢
x60=60

v I fbfEs sral — 1

(a) Rer=d [] (b) Remw= [ (¢) Fma= [ (d) e [

@ *mib ‘Rer om T —

(a) S@eE [] (b)wesrw [] (o) @<= [ (d) wee3 [

@G Biw ==oa T =% 1 —

(a)74r®2 [ (b) Fdits [] (¢) ™43 [ ] (d) 7=t []
GTSAT M FCA 2

T} (5T (TS W —

(a) 54 [] (b) o1 [] (c) corm [] (d) =1 []
(% ST A ?

(a)wrdt [ (b) s [] ()= [] (d)arm []
g *WiD I GO AW ?

(a) R o [] (b)fegom [] (o) Fdamam [ (d) f&Fmem [
G0 SfFrHs A = g —

(a) *f5E [ (b)AATRE [] (o3I [ (dwze []
A I —

(a) RO @ 7Eam otwa oa [ (b) ety @ w44 sirwa wmest [
(c) ¥ig *td [ (d) =1e=ra s [

a5 e Somisfare = za —

(afFEwd [] b Emaes ] (oeHen [ (d) < [
“ofp’ Wfoa oW ofFTe I I —

(a) 2% [] (b) #i5m [] (c) #gm [] (d) g ww [
Male counterpart of “Witch’ is —

(a) Hag [] (b) Crone [] (c) Enchantress [ ]  (d) Wizard []
Use a suitable prefix with ‘friend” —

(a) pre- [] (b) en- [] (c) be- [ (d) dis- []
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Antonym of “Powerful” is —

(a) Stout [ ] (b) Feeble [] (¢) Robust ]

is a great country.

(a) Our [] (b) Ours [] (o) our's [] (d) Ours’ []

(d) Strong [ ]

Select the correct subject-verb agreement :
The list of names on the table.

(a) are [] (b) were [] (e)is [] (d) be []

Identify the sound made by a frog —
(a) Neigh [] (b) Hiss [ ] (¢) Croak [] (d) Roar []

Do not hanker wealth (Choose the appropriate preposition).

(a) for [ ] (b) after [_] (e)to [] (d) with [ ]

Find out the adverb in the sentence :
The patient died of a deadly disease yesterday.
(a) patient [ ] (b) died [ ] (c) deadly [] (d) yesterday [ ]

Form ‘Abstract Noun’ from the options given below in the following word :
‘Child’ —
(a) Child [] (b) Children [ ] (c) Childhood [ ] (d) Chide []

Use suitable article from the alternatives to complete the following sentence :

‘There will be one-act play next Monday.”

(a)a [] (b) an [] (e)to [] (d) with [
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(a)23 [ (b)27 [ ()25 [] (29
91’ (& @ 23T feeR EAN W —

(a) XC [] (b) XCI [] @a ] (d)cxi [
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Tfir o fwrm 70x AW aHfirrs, 60x teey i Faran | o fwcy Am waren
50% | TeH fRaty cver w41 1 Frw1 A2 2rowat 3 w0

(a) 20% [ (b) 30% [] () 40% [] (d)50% [ ]
fffmfm s osmas —

(a) 19t [] (b) st [] (¢)od [] (d)e [ ]

aTR oo SHtied ey Fra @f 3/5 93 (arE 1o T, 11/15 @orw 5% v @b —
(a)2/3 [ (b)3/2 [ (©4/5 (] (d)s/a []

T+ =750 AW, ‘V+F = 420 W, ‘F 4+’ = 980 AW ZLA,
l$!+lq)+¢ﬂ’ =W ﬁm?
(a)1000&m [] (b)1200&t= [] (10758 [  (d)975am []

96 G4 =0 25% Jfa (o1 | ¥ 2 Ten 41l FICS Z0A, IS e WA
FAMS A ?
(a)20% [] (b) 25% [] (¢)30% [] (d)15% [}

af6 “efasf A weF A n 61 n g = A7 35firera wes A —
(a)n/2 [] (b) (n/2) +1® [] (o) (n+1)/2% [] (d) @iz =m [

CFH FHON AR 1 (AT 9 #1(Q 7 Freifas syl ai fasre 2
(a) 3600 [] (b)1729 [] (c) 2520 [] (d) 2500 []

IPCC R Ta 315 &7
(a) GrEE *RfTFd [] (b) SRsTRTENY vad fFagd [
(¢) GeTaryg #fAaSA Aewte @@ o [ (d) siewat g [

32. Frafefae et vt «fagear
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(a) @@ AT T [ ] (b) TR (A= 7% [

(¢) 44 (A= %2 [ ] (d) crifE3 stem [

fobifim A @3 aemafas am & e

@b [] k| [0 (o) «RfFeRm [ (a) wFe w@ite O
“Aio1ferars (Patagium) 7

(a) THCEA B At [ (b) TS SR BINS []

(¢) Giifea e [ (d) Praiera [ N
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aFfes Mo A= Sotwm —

(a) &L (Propane) [] (b) e (Methane) []
(c) 2™ (Ethylene) [] (d) 3144 (Carbon) []
Ramsar Convention 93 3& St f& ¢

(a) CoReyf& Saaw [ (b) Tremedn wm@wd [
() Terref siggsa [] (d) etz o [

e (el g -2 AF AT 0% (non-renewable resource)?
(@3gfe [J] () om=fe [] (03w [ (a)Grar []

Ty ~ARRST 9afp wifFafs 2

(a) T3 3 gisT [ (b) WRe 9 97 elFfes yrafist [

(c) M Bestiva 3fa [ (d) RfeRte srazret [

‘Ecological niche’ I€CS (IR —

(a) &1 T57g= [ (b) AP =[]

(c) 9=l arwifer sfarar ot []  (a) 3eifRemaa =ifFma [
ATAGTED (FIH B ST G D ?

(a) @t [ (b) BresiFear [ (o) ceafeam [ (d) Astteas [
IEANA ST (NFHOE ot & 7

(a) fs. twams [ (b) weotm awa [ (o) @ fRwan [ (a) Porqm cotremer [

©HCed (19 9] (S FHOAfE Jrea Tear
(aefiemrg [ (b) R [ (¢) ofe=t [] (d) SFeTe [

DRDO 97 25&? (Full Form) ¥ —

(a) Defence Review Decision Organisation [

(b) Defence Regulation Draft Organisation [ ]

(c) Defence Research and Development Organisation [ ]
(d) District Revenue Distribution Officer [ ]

“o[@e ANHA foFA’ TAMCR @ —
(a) Srgave fawgtied [] (b) 3ET12 Figpa [

(¢) WA= T [] (d) SIaPIE3 ICaptettsgry ]
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S1aTeA RO Coftee ez = fy
(a)CIA [] (b) cBI [ ()18 [] (d) RAW [
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(a) &= Figw [ (b) et =y [

(o) @it =1 [ (d) @3 G1ZF [

TR FAR — @R FAM @M (¥ M gE ?

(a) 2= [ (b) To<= [] ()qeEsaa ] (a)aafR [
e o 51 fds o ol Siew @ e

(a) e 527 [] (b) 7R @15 [

() TI=4 o™ ] (d) < Potbw [

HIFSHY (UN) ¥73 s 237

(a) 1919 [ ] (b) 1939 [] () 1945 [] (d) 1950 []
FIFA feg=iter 3oz w<ifes et &7

(a) fEPsTien careieest [ (b) coit=t [

(¢) FretE afit [ (d) Frcatars g [

HAMLET 93 ALSS HMEALT 30, WINTER @2 A(&ES &2
(a) WENTIR [ ] (b) WNEITR [] .(c) WNERTI [] (d) IRTWEN []

16, 33, 67, 135, 271, |
HATFICA (P AR AL

(a)541 [] (b) 544 [] (c) 542 [] (d) 543 []

S = ST A, S = ?

(a) 2 [ (b) sticat [ (o) ceifest [] (d) 3ats [
MWMT=7Y=2%0OADAY =?

(a)23262 [] (b) 24252 [] (¢) 36745 [] (d)5732 [

e gl bfze st
F:216::D: 7
(a) 176 [] (b) 145 [] (c) 64 [] ()97 [
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(a)36 [ ] (b)9 []

TSI (ITHH ZLA?
AZ, BY, CX, DW,

(a)EU [] (L) EV []

oreforEe I (1 A TA?
3, 7, 15, 31, ?
(a)62 ] (b)64 []

ATER T A A2
B7, Y12, V22, S37,

()72 [] (d)s4 [

(¢)FU [J (d)EX []

(e)63 [] (d)es []

(a) 055 [] (b) P55 []

= fRegh fbfEs sra —
(a)35,24,11 []
(c) 101,37, 64 [ ]

(¢c) P36 [ ] (d) P57 [

(b) 63,21, 41 [ |
(d) 220, 168, 52
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